10 10 MEREO 19
L Zu vermischten Aufgaben LL

?Wu —rt

L}“)_s ngen

© by Fit-in-Mathe-Online.de

Vermischte Aufgaben - Blatt 7

Losung Al
a) 4;¢Z=2_a
9p2  3b
16x6  4x3
b) | (507 =52

) [VaZ—1: i—i=\/(x+1)(x—1)-x—ﬂ—m=x+1

x—1

d) | -1 22 0 — 13 D D2 (x + 1)

x2—1 "D (x-1)
(x_—l) |3 (x2+2x+1)2 3 (x—1)3-(x+1)* 3 (x—13(x+1)* 3 x-1
e) x+1 @2-1)2 Al (D)3 (x+1)2-(x—1)2 A (x—1)2-(x+1)5  AJx+1

a—b

JEaZ =52 J5a+5b - JS(a +b)(a—b) - X2 = 5(a + b)

a—b

f) m-\/%=J(a+b)(a—b)-5(“+b)=m=(a+b)-£

g)

) | 6 [ s T VT

(x2+2xy+y2)(x+y) (x+y)2(x+y)

0,5eve2 + 2e = 0,5¢e - \/g +2e =05+ 2e

Losung A2

3 (x+y)? +
a) | Yx2+2xy+y2:{x2—y2= /mzﬂﬁ

X2y 2, X24y: 3 2
b) (x+y) \/(x2+2xy+y2)—\/(x+3’) (x+y)2_ X +y

a
= \z4 =7z

a\/y3by‘2x2az3_ z3x3b a\jy3by—zx2az3 y-3bx-2a a\/ y=273
- —-2,3,-a
y2z3z

y—2x-3bz—a *y=3by-2a — | y-2x-3bz-a ;3 x3b

e) |VBkZ—16k+8=.8(k%—-2k+1)=4-2-(k—1)2=2(k—-1) V2
) (1+vk) =1+2Vk+k

9) | (Va—-2vb)’ =a—4Vab+4b
h) 0,25k — \/%+ 3vk = 0,5Vk — 0,2vVk + 3vVk = 3,3Vk

) | (Vx=vV2)(Vx++v2) =x—2
i) | Vxy? —5/x2y + 8x/y — 10yVx = 3x/y — 9Wx

@b

C) n b‘3c—3a2” : aZCZ pn _ n b—3C—3a2n ) a—ndanb3 _ n aanoC—3d _ n (ab)Zn _ (ab)Z
b~3"dc~5a~2 a~"da"b3 b=3"dc~5a~2 a?c2pn a%p—2n¢c—3d
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Losung A3

2 _ 25 _2
a) \/_g_\/g'\/g_s\/g

x _ xx _1
b) AN A
C) | 1+vk _ a+VRA+VE) _ (1+VE)

1k (—VOa+k)  1-k

k _ k(/5k++3k) _ k(/Bk+V3k) _ 1

d) | Frr = G aEaEE — skoak = 2 (Vok +V3K)

VATT _ VrT(fx+1) _ Va1 (x+1)
e) V-1 (Vx-1)Fx+1) x—1

a _ _ava _

f Vatlt+a-z=Vvatlt+a-Z==1+a
Losung A4

1 5 1 3 .3 1 1 3 _31
a) E(\/E) +§£\/E) +5k\2/E—§k\/E+§k\/E+5k\/E—18k\/E

1 1 1
b) _i((_ﬁz +k(—\/E) )=—5k—5k=—k
C) k? 6 k (6\_ 216k 3k _ 3k 3k _ 3kvk _3

1 (@) () =t R et e = vk

1 3 3 2 05 15 _ 2k | 5
d) | 5(J05k) == (J05k) +2=22/05k -2 +2 =142
LOosung A5
a) [V8-3VZ=vV4-2-3V2=2V2-3V2=-V2
b) V18 -3V8=19-2-3V4-2=3V2-6V2=-3V2
€) | VE+v20—-V25=V5+VE-5-5=3V5-5
d) | (V5)’ +3v52 = (4V5) + V5VE? = 5V5 + 15 — 80 + 25 = 5v5 — 40
) V3T +(—2v3) +(V3?) - 5V3V3F =9+ 16-9+3-9-5-9=15-9 = 135
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